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M, % W5 AR EEE(8°C,0.1N)

OB R 2 K MEE (%)
WO e H,S0; 34
B ¢4 H;POy 27
£ 85 R HF 8,5
BOm CH;COOH 1.3
B OOm H,CO, 0,17
¥ Hh B H,S - 0,07
i 9 HsBO; 0,01
£ "W e HCN 0,01
" K NH;-H,0 1,3
B, FR.FIBMEKERTNEHTH

(B WE: 0.1~0.0IN)

':&H-EFHHE!H%%I!‘&

R ¥ K BECT) | % Ka

B H,CO; 25 1 4,30%10°7

% H,CO; 25 2 | 5,61x10711
@ B | H,;SO; 18 1 | 1.54x10"2
oA H,SO3 i8 2 1,02x 1077
@ % | H3BO; 20 1 | 7.3x 10710
W &% | H3;BO, 20 2 | 1,8x10°13
o } H3BO, 20 3 ¢ 1,6x10714
# ® | HCN 25 | | 4,93x10%1°
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' HF 25

| H,S 18

- H,S 18

| HNO, 12,5

l H3;PO4 25

1 {13P0 25

| H3PO, 18

| 1,SiOs %8

‘ H,SiO3s LY

’ HCIO 18

| HBrO 25

i HIO 25

. HIO, 25
HIO 25
HCOOH 20 |
C¢H;COOH 25
H,C,04 25
H,C;0, 25
C,HsOH 20
CsH4(OH)(COOH);| 18
CsH.(OH) (COOH)s| 18
C3sH«(OH)(COOH) 3 18
NH;-H,0 25 |

%

Ka

3.5—3:& 1974
9,1x1078

1,1x10712
4,6x10°4

7,52x1073
6,23%x 1078
2,2x 10713
2% 10710

1x10712

2,95x 1078
2,06%10°°
2,3x 10711
1,69 <1071
2.3x 1072

1,77x 1074
6.46x 1073
5,90x 1072
6,40 1073
1,28x 10719
7.10%x 1074
1,68% 1075
4,11%x 1077

Ko
1,79x 107 %
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=

75, KEEFARE # (0~100°C)
tCT) CH*)=(COH") Ko
0 10-7.42=0,33% 1077 1071496 =, 11x 10" 14
5 10°7°38 =0,42x 1077 1071476 = 17 x 10~ 14
10 10°7+27=0,54x10"7 1071453 =0 _30x 10714
15 1077°17=0,68 % 1077 10714434 =0 46 x 10714
16 10°7°35=0,71x 107 1071430 =9 50 x 10714
17 10°7°13=0,74x 1077 10714726 = 55x 10714
18 10°7*11=0,77 %1077 10714+22=0,60x 10714
19 10°7°10=0,80x 107 10714:19 =0 g5x 10714
20 10"7+08=0,83x 1077 1071416 =0 g9 x 10714
21 107706 =0,87 x 1077 1071412 -0 76x 10" 14
22 10°7+95=0,89x 1077 10714:09 =0 g1 x 10714
23 | 10793 =0,93%x 1077 10714+%6 = o 87 x 107 14
24 10°7+92=0,96% 1077 1071493 =0,93x 10714
25 1077-90=1 _00x 1077 10724:90=17_00x 10" 14
26 10°6.98=1,05%x10"7 1071396 =1 10x 10714
27 107697 =1,07x 1077 1071393 =1 17x 10714
28 | 107695 =1,12x 1077 1071389 =1 29x 10714
20 | 107693 =1,17x10"7 1071386 =1 38x 10714
30 | 10°6:92=1_20x 1077 1071383 =7 48x 1014
31 l 10°6°99=1_26x 1077 19-13-80=1 58x10°14
32 107689 =1,29x 1077 : 1071377 = 1,70 x 10714
33 | 1076v87=1,35x10" | 1071374 =1,82x10714
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(H*)=(OH")

Ko

34
35
36
37
38
39
40
50
60
70
80
90
100

1076-86 =1 38x10"7
107684 =1 45x 1077
1076°83 =11 48x10°7
107681 =1 55x10"7
1076-8%=1 58 x 1077
107678 =1 ,66% 1077
10°¢77=1_70x 107
107663 =12,34x 1077
1076-51=3 09x10°7
10°6°40 =3,98x 1077
107639 =5 01x 1077
1076°21=6,17x 1077

107613 =7 41x 107

1071371 =1, 95x 10714
1071368 =2 09x 10°14
1071365 = 2,24 x J~14
1071363 =2 40x 10714
10713+59 =2 57 x 10714
1071356 =2 75x 10" 14
10713°53=2,95x 10714
10713436 =5 5x 10" 14
10713,92=9 55x 10714
1071280 = 15 8 x 10714
10-12:60 =25 1x 10”14
10712+42 =38 0x 10714

10712:26 =55 0x 10714

#: Ko=(H*) (OH )
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B b SRET NeREHFF (NEBHEHEH )
N IC T D 'K, Ca, Na, Mg, Al, Mn, Zn, Cr, Fe,Ni,
wepig | CX®F) sa Pb. (M), Cu, Hg Ag, Pt Au

BOATF | RRAERET LT (AEHARE)

FE A o B AR
(R8F) (%, I, Br-, Cl°, OH", NO;~, SO4", F-
JE o ¥ o IE AR BB HETERTEF (AERERE )

B M ¥ |Au¥, Pt Ag*, Hg?*, Fes*, Cu?*, (H",
B CHRE ) (/ETF) pb2*, Sn2*, Nid*, Fei*, Cr3*,Zn?*, Mas*,
f@@ﬁﬂ }VA13+‘ Mg=+, NB"', Cazi" K+

N TEW R

FPR&nkaGs & f & |RFESargs = f #
|

1 H 2,1 9 F 4,0
2 He 10 Ne

3 | Li 1,0 11 Na 0,9
4 Be 1,5 12 Mg 1,2
5 B 2,0 13 Al 1,5
6 C 2,5 14 Si 1,8
7 N 3.0 15 P 2,1
8 o] 3.5 16 S 2,5
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. FEM e

. | ] it | . i | it
;(kcal_fmol)}(k.l/mol) L (keal/mol) | (kJ/mol)
H—H 104, 2 435.9 H—Sn 63 263,6
F--F | 37,0 154,68 | H—Pb a2 175.7
Cl--Cl | 58,0 | 242.7 C—F ; 116 485,3
Br—Br’ 46,3 193.7 | Cc—Cl 78 356,4
I--1 | 36.5 152,7 ; C—Br 66 276,1
H—F i 135,9 568,6 ! C—-1 57 238,5
H—-Cl | 103.2 431,8 c—-C 83,1 347,7 |
H-—Br 1 87.4 | 365.7 C=C 148 619,2
H—I | 71,4 \ 2987 CE= | 194 811,7
H—O0 | 110.6 t62.8 | N—N 38 158.9
H—S ! 88 368.2 | N= 100 418.4
H—Se 67 280.3 N=! 225 941,4
H—Te | 7 238.5 C—0 82 343,1
H—N 93.4 390,8 | C=0 179 748,9
H—P : 6| 317.9 ; C=N 212.6 889,5
H—As 61 255,2 ’ C—N 70 292,9
H—C | 98,8 | 4134 | Si—Si 78,1 326.8
H—Si | 71,3 2983 | C—si |(sio)7s 317.9
H-Ge ' 76.8 | 321,3 Si—O0 |  190.9 798,7
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